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ITERATIVE METHODS P
The above methods of solving simultaneous linear equations are called direct methods. In all these methods the solutions
of the equations are arrived at after a certain fixed amount of computations.

There is another class of methods of solving simultaneous equations called iterative methods. In these methods we start
with certain assumptions as to the values of the variables . By applying a method of this type we get a better approximation.
We repeat (iterate) this procedure as many times as we want till we arrive at a desired accuracy.

JOCOBI’S METHOD: < 3
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SOME SOLVED EXAMPLES:
1. Solve the following equations by Jacobi’s method
4x+y+3z=17,x+5y+z=14,2x —y + 8z =12
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GAUSS - SEIDEL METHOD:
This is a modification of Jacobi’s method in which as soon as a new approximation of an unknown is obtained, it is

used immediately in the next calculation .

“Consider as before the system of equations.
ax + by +cz=d; ay » b, 'C’
X+ by +cZ2=dy s (1) \99/707—\CL

+ b3y + =d
R Cy > O by

-C,2
n = _\a\\C A\‘\Dl\.ﬁ \)

S e R ©

D —~ O B ES)Y)
c C Ay

-
Mo=0, Jo=0, 2020

sk Tlexawen ! bake ™2=9,

- d)

A\ = JC?\ L A\- \D\%O’Q\Z() = ;51
, Zo tO Col Cu\ote T

\

use,
9z - ngzol%\'tzl(ﬁ
-
z
~\ ) O C,C&\CU\U\J@ /

Sewond A oxufion - NS
TIRATROT

= L L C\l\’ \o1 N —C\7\>

<

Use ™2, Z, 50 Calulore I
\

Dy (L da- 022 -C22))
oo

gse M2.Y2 bBo Col\lulatre €qy

MODULE-2 Page 4



29 = ‘\Z%L&”f Gamq — P29

@QQQ(}* 5(\0\9 WLQ%; G you ~eod |n AQ%\(@A

Ol A \eM -

SOME SOLVED EXAMPLES:
1. Solve the following equations by Gauss — Seidel method
20x+y—22z=17,3x+ 20y —z=-18, 2x—3y+ 20z =25
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2. Solve the following equations by Gauss — Seidel method
3x; — 0.1x, — 0.2x3 = 7.85,0.1x; + 7x, — 0.3x3 = —19.3,0.3x; — 0.2x, + 10x3 = 71.4
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